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Level Up Your Korean: New Transcription Format
To enhance your Korean language learning experience, we've decided to provide more

authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing

and stay motivated. %2{& & 4 Qlo{Q! mto[&r

QIISIAN|R. {Annyeonghaseyo.} PISIAIL. (QIFSIHIR.) 222 Hof Qhg Y, (QFd1 92 Hofl Qhg, (g
You remember yeppeoyo? Ol 2 and 8310182 or 3310122 {meosisseoyo} HUCIL. You remember that? 4],
Zotg. Q2] Az, A, Az Chingchan is compliments. 2L, o8HYoA| female female students,
o5t Aol ofsh oAl el L. (o L.} o e of#e oe. ojshieA| ojst oA o, (e} FetAi]A)
LIEkA ekAo]| ], to male students okay? 'H3HEOA] {3310]2.} Someone said masisseoyo. Oh no... H310|8.
{5312} Bigloja. g ¥ o, Bigloja Hglel.. Y| Fote. £2] NPTEL A-S00AE QA .. 2|1 HRisfe.
okay? A2}, QngstH|R. (QhgstAlR.} o (M) dEe (o L.}
Bolojg. (Ajlel’.} 25 22 E 63} 6T} again E 63 FHAK.
Yukgwa baewoyo. Yukgwa jemogi mwoyeyo? <QDffR?
{Z0}e] 22} How much is it? Eolmayeyo? @olo|R? 0l 25 |
23t #HoJA. Munbeopgwa pyohyeon geurigo tto grammar -

exercise. =4 F&012 L8}17] malhagi two. Malhagi two baewoyo.

You remember this one? Yesterday we took a look at this one. Ayo/eoyo/haeyo, but with adjectives, okay.
Adjective stems, right? 4], £0}2. o]/7}/-of2/0]_/81Q &}Q {3]Q} ofQ/0]Q/8 |, Y| £0}Q. oA T}A] T}A]

HlQ of2{8 CIA] BlQ. let’s review this one, okay? £T}, £C}-£0t2. 7|1} (gieongnayo)? Y| 7] LEL. You
can say I remember. THA] 7]2LEQ? THA], of=2{& 7]odLte? U], 7]9dite. £tt-£otQ. THA] AJA jota {joayo}
ssada {ssayo} What's the antonym of this word? Opposite word? {bissayo} H#}2 2 Zglo]Q H] HIKQ.
e, AL, AR e, HIRER. /R, HIALR, okay. B3lol2 H3loje of Aol Hh (Wota} ot Tt T,



manta-manayo. Gwaenchanta {gwaenchanayo! T&o}2 MolQ It's okay, okay. WZotL. 22| 2Lo]A|
T2, Wote. (ot} Wota. (Wota ) Wote, T 7oA o2, Bote (Wote) Bole.
OK #gotQ Mol OK. This is a polite version, right? informal polite version of sentence ending,

ayo/eoyo/haeyo, gwaenchanayo. But you can also say just casual version to your friends. What's the casual
version of this one? ot (Woh Wo} (Mohr Mol W} It’s okay. W} (W} Y| ol

Next category is hada. Hada, hada category. E435ICH-EX8| o, BAslcH (E45]2 ) BA5IcH {(BAE1Q ) okay.
Bokjapada means complicated, complex or crowded or busy, okay? So 7HRSIth (7Rsj_) 7HRLSIC)
{ThZ818} To be clean clean, 7HSITF-7ARSHR A2, 7RSIt (MhRef) FEsch FEsich (FEoHR)
EE5Q, ttokttokada to be smart, ttokttokaeyo, Zelo] Q@ The last category is the other vowels, right? Eo, u,
i, etc., okay? BIQICt A2}, BIQIC} (BiQlojQ )y BiQITt (BIQlo] Q% What is it opposite word? Btglol 8, BIgloja
{3tglo]8) OK QITt eopda-eopseoyo, isseoyo, eopseoyo. You remember this one? 1018, ¢lo]. 7|Lt?
QolQ, {gloje} BiolojQ Biglojg Afm|loj 2 (Am|Qle] R .} Dasi hanbeon sijak, masisseoyo {maseopseoyo}
jaemiisseoyo {jaemicopseoyo} Z3io|Q. ofHiC} e} (ol Q) ofjct (ol @} OK HTl HEl-HYK HY.,
ot {4998} OK, how about this? FTh Tt 2T} {swieoyo} okay. Swipda means to be easy, to be easy.
And then, conjugation of this one? #|¥ & okay, |92 #|$98. OK so we can change we can change B B H
batchim here. We can change the consonant H, B33 H|53 into what? & %, $0]2, $12 woyo here, okay? So
this B can be changed into u, right? OK, £0] £0] 29, together quickly, ¥ ¥, okay. 012 20]Q t0|Q,
H 2 o] 2. Quickly together, HL HYL {deowoyo} HL0]Q HL0jQ T2 OK H¥Q 49, Fof..

o419 L, Hot (A9L) Fh-4192. What's the antonym of you know deowoyo? You remember? 398

= = = = E
2912 N& o9, 298 tigle, 29le dele ) A+ -otg —ag < HIME
2918, OK #r}-419)2. And then one more. iy et + ol — o

Wych + -of2 — Wyola

ot} Same same irregular conjugation.
238} - 33518

offchoeigle, Yobr. offichoRige. ok, [N ABstch - B0

the antonym of swiwoyo. OK eoryeopda- ZEE5ict - EE5Q

eoryeowoyo. To be difficult, to be hard, okay. giolct + -0} @ — BHlo] 9
cHRekoleifa A3, ofget (o) ot g l Aolgich + -0} — AE[golL

oigle. OK 4t #idle) Tt (midle; art EMERES  olmch+ o - o o Wt

(2921 2 Agojg U], Ahoj.. OK.

Let’s take a look at some example sentences here, okay. Hakgyoga joayo. Hakgyoga joayo. Yeongeoro
mwoyeyo? I like school. Okay yeah, okay yeah. The school is good, okay? The school is good. Literally.
literally translated. Okay yeah. But it implies you know we like school, right? OK it implies. But the you
know literal translation of this sentence is the school is good. OK so here hakgyoga hakgyoga subject, right?
Joayo joayo. What is this? Adjectives or verbs? {Adjective} in Korean we call this one adjective,



hyeongyongsa @84}, adjective, adjective. We say hyeongyongsa §-8A}, okay. But it looks like a verb, right?
4], BfotQ. OK Korean adjectives function Korean adjectives function as descriptive verbs, okay got it? Ne

Joayo. So hakgyoga joayo. In English, right? The school, okay? School is good. OK. In English this one
this one subject, right? Subject, this is a verb, right? This is an adjective this is an adjective. So uh we have
differences here, okay? In Korean we have just a subject and an adjective. This adjective functions as “is

good,” right? Is good, okay? What’s the dictionary form of joayo? £L} £T} £T}. So jota is to be good to be
good okay? To be plus good in English in English. This is the main difference between English adjectives
and Korean adjectives, got it? Mot of=2{&2 4] OK £0°}8, &7} £0}2. The school is good. This is a

literal translation but it implies I like school, okay? OK 4| £0t8, 2dZ]= e3x|= #Q 3| #HQ, 2
22, 2, gyureun tangerine. 22 2fotf 2ot OK keoyo, what is the dictionary form of keoyo? Can y ou
guess what? 3T 3T} 3TE-FQ okay 3T}, o HCH-of#] Q okay, similar similar. ATH-A L AJ3}, {3TH-AHK 3T}
#L.} Jakda this one. Jakda jakda-jagayo, keuda-keoyo, okay. T} 0] AJ2 Q&IX|= #HQ. A]2F {orenjineun
keoyo} B2 2fotR, &2 2ofg, 1 Ajjoja. g2 Zfofe, Ath-2oje, 3rh-71 Q. ThA| oHH AJ2}, At} (Zhot g}
3t} (AL} Zo]. Gil is a road. Giri, roads are crowded, okay? Roads are crowded with traffic. Giri
bokjapaeyo, giri bokjapaeyo. So it means roads are crowded with traffic, roads are busy with traffic and
people. 7Zo] BAfQ Zo] BAR. 2 road, Zo| BHE|R. BAsch-EA .. A2, Esich-EA e,
{(BAsIt-ERse) of Zo] BAfse. o2 Aijo] Zo] B Bie, BAGHA| oote? Bilsle, ¢
=40, o BRier (Bilse) B, v EER okay. $H= S4l0] ?F= SAl0] Bigloj’? = ZAlo|
okQlo] Q2 Gk SAlo] Bilo| @ 2 THA| ThA] 2 & you answer me. Hanguk eumsigi masisseoyo? Ne masisseoyo.
Jalhaesseoyo. Aniyo aniyo. If you want to say aniyo, you can say °F-]8, BF BIQlo]2  Maseopseoyo. OK
That is the antonym of masisseoyo, okay? 4] §t= S4l0] Hanguk eumsigi. This is you know the subject,
right? 3310] 2 . BIl0]Q S0 9], this ©]/7}, okay these are all subject marking particles, okay? Subject marking
particles okay. Ne Hanguk eumsigi masisseoyo? Is Korean food delicious? Okay, is Korean food delicious?
OK Y], = SAlo] Bigloje? BiQIojQ Y| U] yes, Y| oFF BRI, aju masitgo, very delicious, and and OFF
ool BRIy AZOE, 747 737+ means health. Geongangedo joayo. Do do means also or too, also too,

geongangedo joayo, It is good, good for health, too, okay? Y| 2470 £otQ, £ot8, 717 o& £of2. OK

25012, So in Korean, adjectives function directly as

predicates. Predicates, okay? So what is a predicate? So
let me see here again. Giri bokjapaeyo. You can see giri
bokjapaeyo. Which one is the subject here? {Z°]} Zo]

2 26 70|, giri, subject, right? BHTHL bokjapaeyo is a
= o)

haslth
~ Yljohz B@ Aol 3
al 0y 5

&

predicate predicate, okay? So if we want to divide divide
two parts into two parts, if we want to divide a sentence
into two parts, we can have a subject and a predicate,
okay? A predicate is defining or describing the subject,
R BEMER8% \hich is a noun or a noun clause, got it? So this one is a



subject, this one is a predicate. The predicate can be a verb or verb and something else. OK so for example,
this one, hakgyoga joayo. How about hakgyoga joayo? Which one is a predicate? £0}L. This is a predicate,

right? How about here? 23X= #HL2? Which one is a predicate? {keoyo} keoyo predicate. Joayo. How

about this one?Aaju masitgo geonganghaedo joayo? Do we have a subject here? No, no. It was omitted,
right? OK so no subject here, okay? But it is, you know, omitted, but we can assume there is a subject. What

is the subject here? We cannot see, but we can assume. What is the subject here? 3tz 241, That's right. $t=
SAl0], &k ZAlo]. It is omitted. Because we already know. We already know in the context, okay. And then
what is the predicate here? This sentence. What is the predicate? All. These all are the predicate, okay? O}5
ol 7370 Z£olQ. These are all the predicate okay, it can include verbs or adjectives, okay and
something else, okay.

So you got the concept of the predicate. Gwaenchanchyo? Gwaenchanayo yeoreobun? Ne. The subject
particle ©]/7} attaches to nouns that are predicated by adjectives. Okay, so this is you know subject particle.

This is a subject particle okay. When describing the past state of a noun, the form,
asseoyo/eosseoyo/haesseoyo is used. ©FR/0|R/81Q A]h ofg/ojQ/f’, StojQ/jloj’/gele AR
Qoj2/9101Q/80]Q | Y] €012, So for example, eoje eoje, past tense, right? eoje yesterday. '&&|7} E&|7}
1L, oA EA7T £t .. Y], what is the subject here? 'EARI7} EH|7}. Predicate? 4018, £0|2. OK
past tense, this is the past tense, okay. £C-£0t2-£90]Q A|&} {jota-joayo-joasseoyo} GO FOIZ, was,
was good, was good or was nice, was good was nice, was good was nice, okay. G8}7} &7} FE}7}, Gt
Amigtel 2.2 Aojglet-An|glol 2 -AHn|Igel R, very good, AmIITH-ARIFIIL-AHRIIFI L, okay. FoI= Foj2
Ho2? Was the movie interesting? Was the movie fun or interesting? So jaemiitda, to be fun, to be
interesting, to be fun or interesting, o] £0}2. Z{O|Jc}/An|glo] Q/Am|QIqde]Q, tA| $HA . (Afm|Qlct-Afm|glo] .-
Aoiglela ) g ¥ o, Anjgiet-AHm]glol . -Anjgigiel /, v An|qiglel., ul Am]3Igiol_. What is the opposite
word? {ZjE]|gloje} Am|giclel . An|giRiol’ AHm]QiRlol_, okay. Joayo. But we also have a short form short
form, okay? I’ll write it here. Jaemiitda-jaemiisseosseoyo, right? Z|310] 2 Z5lo] L jaemisseoyo, AR
13401 AR R, okay? This is a short form. This is a show form of A8 Z{@]|Jo| Q. Af5lo]Q . Am|Qlol
Ajo]Qlol L jaemiisseoyo okay? 5 letters but this one is Z{310] L, 4 letters, a short form short form. This is

more uh colloquial colloquial version. Colloquial \
means you know spoken spoken language, okay? So %' In Korean, adjectives function directly as predicates.

jaemiisseoyo more formal, but this one is jaemisseoyo ;. e subject particle (]/7} attaches to nouns that
more colloquial colloquial and short form, got it? Yl are predicated by adjectives.

OK. ARI8-AZNHI]. Past tense, past tense, 5 When describing the past tense state of a noun, the
Aggele. o ol Aglola-Aggola. (Aglelr. form 5IeIR/5L isused

Aglela) ¥ 9 o (Aol AYgtelR) Th A% Mh*ulv}%goﬁ/ie

Aele-Agkeia) Hl Ao, o=iE. AFol.. %l

SH7E Hollg, o222 ER7L IR L] nalssi weather,




weather, okay, okay. Nalssi. Yesterday was the weather good? OK nalssiga joasseoyo, 'S#]7} 90|, okay.

It’s not a question, so yesterday the weather was good, okay. Yesterday the weather was good. '2#|7}, 'Z#|

4.NE)

» ‘& is used to express ‘also’or ‘400’.

weather.

Y| 32y OK now we’ll move on to the fourth, the last one,

last grammar and expression item = & & Lk I okay.

Something noun, noun, noun something-do, say it together. ~ » = attaches to nouns.
EAZE SHE £ EEE EEE £ T & Do you know

VLY

N

is also or too. OK? So it's easy. It's easy, okay. Do sijak, = Al 7‘_‘1@
X

EE XL & & Do attaches to nouns, which means you

know something, something do, something do, okay? 4], & SRR

ofel w3l Qlole, A A ¥ glel 2, right? OK &, A-E. ¥ 9lol22 2 B, ¥ 9lolg, gief 2 ¥ glolg. but
we use do do again. OK &X&(mul-do) so regardless of batchim uh regardless of batchim we just use do do,
okay. EEE AJ&} {EET} A& A [ also or me too okay? Jeodo, I also 2. BE B water too. Water also,

water too. £0}. E&. 2l
o) ¢ 722] A= Aol 2. A & 3Hgolo] L.
2] W=, Kelli is a student. Z2] A= SAoloflQ. Kelly

Wi 348 B & AR
ssineun haksaengieyo. Jeodo haksaengieyo. Me too.

o AE|JERL3 2 i Q. Z2|oF A
I'm also a student. OK I'm a student too. AT AEIZ ME 3018 H"‘]'Q"LE“]LJ@

spgolole. EEE AR Waole. ik AL, ik ik T3oHE e

FHL. M5 FA2. Give me a menu. {Muldo jom * oA BiR)§ AtolR. 22|13 E3kE)joja.
. 2ok ML\- AFE - Kkod@.

juseyo.} 2k & FAH|2. X £ FAM|8. Bk & FA8.

Menyu juseyo. Muldo jom juseyo. Muldo, okay. Give 4
me water, too, okay? Please give me water, too. 2k & FA4|2. AE|E K=, T} 70| ¢lojQ t} 70| glojQ of2 &,

Please read it all together. {AE[E K= SH=2o| S HiRIR ) St=olE HiY Q. 22]|Y W& E2|Y Kk gh=olE Hif ..

‘D 27:40/50:31

Fo|= Foj22? 2, {Stephen speaks Korean. Julian also speaks Korean.} That’s right. Steven Stephen learns
Korean. Julia also learns Korean. OK. £0}82. §r=olE Hi$J Q. Y|, ofA] ofA] ojA] HIZ|E, ojA| H}Z], eoje
yesterday, baji pants pants or trousers, okay? oA B}X|Z. What is a skirt? AHE = §=o|2 Q7 AHEL
ghzol2 Fof Q2 X|uf X|u} ]}, skirt okay, chima. oAl 2|0 4tolf. oAl BIRIE 4telR. ofAl BiR|E 4tolL.
J2|1 258t 4tojQ. 258tk 4t0]Q. Undonghwa sneakers, 288} sneakers. +&3tT 40|, ofA] HIZ|E
Aole 12|31 5L 40]Q. Sneakers, too. AITH-AFQ-4t0]Q. TIA] AJZF (AJTh-ALQ-4t0]Q) S ¥ o (AlTh-
Atg-4tole ) @ AFlojQ AfTh-AFR-4to|8 {AITh-AtR-4to]R) sada to buy, okay? AICH AFF-AFR-At0(2 Ao,
Sada to buy, okay? BT} ZT} LT} LT} palda to sell, palda okay? ZTl-ZotQ-Telo]Q ofQ mpmfi} of 22
ol8. Right? o}, OK. FT}-Zotg-Hsto| g A2}, (Hrh-Toto-Lgtojg} ot e, F-ofg, Tr-TotQ-Tgtolg,
y A3lol g, o2



o) / L& I Do replaces particles such as eun/neun or eul/reul,
» ‘&’ replaces particles such as * / o 2/&

: okay. Eun/neun is a topic marker, right? Topic marker.
and cannot be used with them.

Eul/reul, object object object particles, right? So do

o)) *+ A= FAgoloL. (X) cannot be used with them. Example here, =% A=k
SO (0) 75 o gote, Eela? dote, 2182 HEE. OK &, newn
« EeEE R4, (X) is here, right? Neun neun, neun-do together? A4=&, no

ks ga@n}ﬁoi Q. (0/ 2212~ no,oMo]8, Q=R QtElR. E2IQ EBQ E2JQ OK sowe

have to we have to correct in this way. Jeodo jeodo

) m51/5031

haksaengieyo or jeoneun haksaengieyo. Depending on
the context, you can use jeoneun haksaengieyo or jeodo haksaengieyoeyo okay. A little bit different, right?
OK A X jeodo means I am also I am also a student. I'm a student, too. A= 2/g0]ol 2, A= &HAgolof| e, #|+=

&Ao]oflQ. T am a student. Jeoneun haksaengieyo, just I am a student. Jeodo haksaengieyo. I am also a

student. I am a student, too. &. Z2}EL Z2}EL, oA ZolQ E=jQ? ZelS L ol E=jQ? 5L Tolg,

£327 (£78.) E282, 28k £3 2, okay? How do we use this one? S2tE Z2}tE OH4l0|R or 22tE

212 oh4lo] 8. Kollado masyeosseoyo yeongeoro? {I drank.} I drank masyeosseoyo, drank. I drank a kolla

too, a Coke, too, a Coke, too okay. I drank a Coke, too. 0.2, 22}k 0}40|2. How about this one? 225
opso] Q. 2218 oH4lo] Q. [ drank a Coke. I drank a Coke. OK. 4] £0}8.

Let's take a look at this example, okay? Eoje, eoje, ‘),,\ When the noun attached to ‘=" functions as

yesterday. Hig}A0]| @#igdo]| 7ko] Q. oA ©igtAo] ZtojQ.  something other than the subject or object, ‘&’

I went to a department store yesterday, okay? Aoz~ " be used with giher pasgicles.

‘s okg
7tole. A= ZtelR. OK ko, Aol ZtlR okay? o) ofA] Msra0] 7ol A

In this case in this case these are not subjects, these are

5
NAF3

. REs

not objects, right? And then we can attach & with those
particles, got it? OK so backwajeome, backwajeomedo
is fine. Got it? 4], ], For.2. oj#] Wi5}Ho] 7ol Aol
7012, OK Aok Zto]_ gol2 § o 22 I went to I went to a sijang sijang, market. I went to a market too,
okay? I went to a market too. Aol & 0] _. Market market, sijang you forgot? Market, Ao Z}toiQ, 4|

o) 3251/5031

£0}2. Baekwajeome here fo. This means to here. Let’s go. Doseogwaneseo TAZO|A, another location,
location here, right? Doseogwaneseo chaegeul ilgeoyo. Chaegeul is an object, right? Object, HINE
AoME S gloja. HE girt-2lol ., gitt-2lole. EAToA A3 gloje. HANE HZ glojR Fol= Hea? 1
read I read my books not my books okay. I read books at a library. I also read books at home okay. I also
read books at home. I read books at home too. At home too. OK £0}2. oML M L. Eseo here at,
doseogwaneseo at or in. &, HME, TATOJA HoME TAToA oAz, 2 Zglolg Zglo|g 1

AL,



Oh, we'll have, you know, this exercise, okay? First one, & H&Y], £2] ofo]3 =7} 7k3 QlojQ9 A7|, Ojo]3.
Q027 Y| £otQ. of7] 7t} 1. 2F &2] 5 (Jogeum ppalli haeyo). 2]. A little bit quickly. Let's go.
(&twst ot} Fote, Yotole 13 &9 &twst ote. Hiy &hust Fotg, Zrh-Fote. OK. 24 24 718,
Hol Gof|, |7} &:MZ|7T {LER]7F A0} Q .} Is it the past tense or? It’s not the past tense. (2.} AL,
A7 R Q, At RTE-AR MTH-AEQ. What is the antonym? H]J®HL. Bissayo expensive expensive, okay?
4] 347k2. 33, 20] 720]; 7201 2ol 20] (2R} 2R, 0] Behe. slch-o, BB,
THA] A3, {bokjapada-bokjapaeyo} Wl FotR. 4 H, Z4ol, of 4 1 ol (4] HgleiR.} SHo] Hglele,
masitda-masisseoyo. o] Zgo]R Y 5H 5 2Z Q2 Yojeum means these days, okay? Yojeum these days
or nowadays. These days okay recently, yojeum museun noraega, what song, which song or what song, §&
L7t (£oto) £otR? 8& & L7} £0122 OK very good. Noraega jota-joayo. Which song is good

these days? Which song or what songs are good these days, okay? Jeoneun jeoneun hanguk noraereul
hanguk noraereul {joayo} joahaeyo, right? ZO}5}Q.

Joahada, to like, right? To like something. To like
something, something is an object here, right? YHS 1. &7} £ol9  (£ch

YHZ, an object object, okay? Joahaeyo. I like Korean 9 227t WA, (ML) <« vKL

ps ' o x s
songs. I like Korean songs. OK. A+, a subject, §= 3.700] a9, (2asich)
4.-g4j0] glola? Egleh

Z0}2. £T} jota to be good, to be good or nice. To be Ms 4
5. A T%_\,_a]p} io]_»g_? ™ ?"‘T\:«z

YHE, an object, OIE1Q, a verb verb, okay? Verb.

good or to be nice, jota, an adjective. EOISIT} a verb,

£t} an adjective. OK. 3552/5031

of, 22]H thZ22 7kR. Next. 6 ¥l 612 ojt]2 Z7ta? £2] of7] mjo|3 Qly|2. 7] nto|3.. oA Z7ta?
o544, No no. You turn. A2}, 1j ({0 3t2o] & ZHH Q. §H=2oj7} AR L.} Jaemisseoyo good good, E0FL
OK. So he said jaemisseoyo, This is also fine, okay? Jaemisseoyo jaemisseoyo. This is also good, okay.

Jaemiisseoyo. Jaemisseoyo is you know shorter, short form, colloquial colloquial version, okay. T} 2]
ZojqJct-ziojQlo] -Am]QI3iel’ OK. A short form short form, AR|QICH-ARloj-ZHRIG0|Q, ATloi_ AT,
A3, AFlol2 A5l ., Ao’ Agisiel ., [Alol. Alol.], Amict-A5lol - AFItel !, AFICH (x50l )
Aoict-Aglol 2 -Agisiel 2, Am {iglel e ) A5l ARIgiel 8. OK Am|glel & An] ZHm|gigiel e Am]3igiol .
OK. This one AP|{ct-Am]glo| 2-An|igiol 2. ZH5ict. 78 7ke, 74 Foll, 74, {ofA] ¥Ho] Hglo.} ¥Ho|
Hejo] Q7 Wi -o] WWHo| WHo| WHo] o] &= 12 & 72 How about du geureut? Naengmyeon du geureut
here, {5 12, o4 Wrlo] Tigloj. & 12 mgjoja . @ 2gHo] A3Ho]. But past tense, B30I past tense
{3E9l5lo18 ) Bislslo| 8. of Zglo] Aglo] Aglo], t}A| ghf, o] Q. He figured out. He figured it out. OK. ©{A]
JIHo]... {Eoje naengmyeoni masisseosseoyo. Du geureut meogeosseoyo.} H3lo]Q. @ ¥4 @ AdHo|Q o]A,
this one was difficult. Eoryeowosseoyo, ©|7] oj2{§o|Q, ofF ZgiojQ t} FFo] T} o] AJ2} o] FHo]



%3]

%3]

Qoje Jf £ 12 F 12 Hojoj@ T 12 MoJoQ | Yesterday naengmyeon was very good, okay. O1A]
20|82, Naengmyeon was good so we don't have so here, but you know I can add so. J2jA & 12 &

J2 1 ate two bowls of naengmyeon. 23102, 8 H 8 H 8 M. You have to use geurigo geurigo. So you can

say two sentences, okay? Two sentences. Between the two sentences, you can put geurigo. Geurigo is and.
Geurigo is and. Conjunction. A oA A|F Atat Alct 32|32 B7] AT} okay? Ne, let's go. {Z= ofA] A4}
Aol APgOlA (ALEE AtolR.} AFHE tolR, AglolR. And (32]1. E7] E7] 271k 4fol’} OK Z3iol8,

y ik wy I o oA Zglel’, Zol Zof, a long long
:,:)\ o }HWWL Y sentence okay. A& OJA] AFJoA AHILE 4tolg,
- 6.70Y $3olg Fusha. 6}%01% ZHDl°¢\91§gﬂﬂl°‘t})m%ﬁ A AolR, AIE Aol geurigo and
7. oA WYio] BI9l%i018 R C T 12 Boloje (/9L ttalgido ttalgi as well, ttalgi too, right? OK
8. AL O NN Atk Alolg. Jela i grojg,  Strwbeny strawberry, B7] 41012 71 244,
(A, of#, A&, Atal, Ael, 3;1’_2’ ), Al 3o} Q. 4. Yeah but we can have other versions
9.5 242 B 24|Q, - of .this .sentence. How can you say it? Jeone.tun
1712 Aolg B eoje sijangeseo sagwareul sasseoyo geurigo

10. ¥ 2%of 7|2}& Hloj Q. = g ttalgido sasseoyo. Can you can you link these
12H5 HolojR, (£29) two sentences by using 1 2 112 Remember?

A oA APgoIA AltE AFR AtR, AMRHE AR,
D71 AolQ. A oA AJoA AlZE AtR EB7]& 4to]Q. This is one sentence. The previous one, two
sentences, okay? Y| £0}2. And then simpler version. But I can also... 2= oA A|&o|A] simpler simpler
version. Sagwahago ttalgireul sasseoyo. 4| AH2}5ta B7], okay? You can link sagwa and ttalgi, okay? A=
ol Aol Aftet Absle} Bo1E Atolg, Abatoka AFSHED, ALY, okay. Afalel 2712 Alole, Aot 2oE
Aol2, At E7]E 4to]Q. Oh very good very good. O} ZiojQ 9 H 9o 7IH|Q. (M| FAHIR. B FAQ.}
Yl il FAR BT FA|R, water too, $0F2. I3 108 104 108, {22Y0] T2t HejolQ .} Y] {(£2Y0%
TALE HoJo] R ) o] AHo]Q  So clear. OK 230l Y QAo LS Hjo] 2. ¥ Y]], on Monday. 2 L0
290k TS Hejoje, £k, suyoiredo on Wednesday too, okay on Wednesday too. 3820
I)2tE H3lol . IR Hgloj.. ofF Alel’. Y OK.

oAt oY R, & T 022 7, & T ol A, okay. H| Fof Floll, Flol2 712, FHofl Flofl. A A2k A=, £2] 2

2] sQ, oj2|e. A I}t A= 2ol 2abo]|, (2ato] AW Q) 4T (FhojQ) Fabof] o], This is kind of a
journal, okay? Jumare last weekend, over the weekend FH°]|, an object particle here? 252 §1ojQ FolQ
C}A], Je chinguwa jeoneun jumare syopingeul haesseoyo. My friend and I went shopping over the weekend,
last weekend. 2= 4% f2= 272, o Fo, L2l 292 (Rle 2TS FoHIL.} FORIR or
{Zol5l0]_ ) ZolgojQ Zol5l| Q. sorry sorry £OIBHL. OK this is kind of you know, our preference, our fact,
right? Factual statement. $2|= 232 £05l|Q. All the time, right? Syopingeul joahaeyo. Okay, so in this

case, we don't need to use the past sense, okay? OK urineun syopingeul joahaeyo. And then next one next



one next one, okay. F]°l. Conjunction, any conjunction? Conjunction? Geurigo or geuraeseo, geuraeseo or
geurigo. Geurigo is and, geuraeseo is that's why or so, okay? J2l- 22|32 or J2[A? {22}A]} And then J2}jA]
{E5}Ao] WiglAof ZholQ . @ Zglo] g T2ljA HigHA o] 710] Q. So we went to a department store. A= HHIX|E
BHiR|E, Foll, A= HHHAIE (e FHIRIE Atelf.) 4tol.. Floll. Al 4, Al 35 A| 2124 1. Cheongbaji is
blue jeans. OK cheongbaji-blue jeans, FH}Z|, = BHRAE Atol8. Al 317, Al I 3-E, & 2ot. Say it. Al
L= HHIR]E 4to]Q. My friend also my friend A A A7e A= 11_ nal-ﬂ]/ AT _%_132_9_0(5}[}) L-E) I

also bought blue jeans okay? And then, A% M&(%W%}E}k 22A) M3 of 7Hoja, A=
B, 22, FuRlE (PHAE B TR 1 guiz)E 4ol (pch A AL Yulr|E Atojg.
2345678, 0kay. FRF12345678, W ur|= 0k 2 flojof| Q. (18,000¢) £2]= 492
Yololl&. You have to practice more again, LaL(3I%H) AlollA ujlelsta Y Bglol . (i
okay? ZgHIA|= 18,000 ¥€olof2. 18,000 Fojof| L, 18,000 Y. $2]= 22, I'll do this one an easy one, okay?
£7E 51 5f3 AltoflA] H]HRSH T WH-S Hctr Hejoj@ Mojo]Q OK You do the difficult one next one. .
Q2| 21g st AGolA Hlslstn YHE Holole. I ¥ Il do that. TF o] T} o] Ajzh, I7t kg
Aol AJTh-ALR-4t0] Q. OK. This means my friend treated me, okay? My friend bought bap. 277} ¥&
Aol a2 A= AU E 4to]Q. So that’s why, so, I treated coffee to my friend, okay? £0t8. HI|E 4tolQ
And then your turn. {H|%4H B]elgh vjgiek - AelA 3 8t & A Y (han geureut} §F 220 grotg. v]{IE} gt
J20] 8,000 {8,000} 8,000 Y, HJHIH S 320]] 8,000 Y, L2 T. You have to use -go here, right? To
link link okay? HJ{I%} 8t 720f 8,000 ¥ 31 or 0|22 You see here 18,000 o]0 2. -g0]o]| 2 And then you
can use -igo, right? ©]t}-0]o]2-0]1 okay? OK £otL. H]dlgt 3t 7.20] 8,000 Yolx, YH g 120 7,000 Y
okay, space here. Y 3t 220 7,000 ¥o]2 AHu|= Au]=? 1] {FI]E O}4L.} No no no. A cup of coffee
{Zt} What jan? {3t 2t} 3t 21 fop  #u|= g 2tof] g 2tof] Lnje 22 Antfl2? {57 No no no, {F HAL..
0150]..{5,000} 5,000 5000 5,500 0ol 5,500 HololL, 5 8t no okay? 5,500 Holf|L. OK. g+ §h=+2. Foj,

=2 Hixls & (F=2) HuRA = (FHRR]E &) A, IR A or HIA? A {&) ssa and and, A {HIK}}

3l e oh o glojol|@ (18,0009) Sl 2TS 518} (laughing..) {HI%0]1L.} &, HHiA|= £ 2 AF &
3t3 (3teh) AgollA ulssta ¥ Hglola (aic) B B} linking and and, A2 (ssago) TotL. /1 A1,

217271 41 Alol. (rfeh) 22N A Ao 2
u]eJk 5t 0 20 T ol i P §h1goR
#HulL 3t 3o 2304 Yoo (5,5009)) *
HeRAE 2 A3 Al 2 ke, (Woh/ul

Aols £ (H4o]Q) HAIR H/R. Usually usually,

that’s why we use you know ssayo, bissayo instead

of using ssago bissasseoyo okay? OK ssago bissayo,
ssago bissayo, okay okay. This is kind of a factual

RN statement uh from the writer's perspective, okay? U|

Mo, of=2]&? MAotQ? Hangugeun cheongbajineun jom ssago keopineun jom bissayo. HJ#t L. 4], o}F

0|2, of2jR. v, 252 o2& 7I7HR] @78 o] 22| Y, WY tomorrow, Y T317] 2 ¥, Bo7] 2 H 38,
LR22 Y 252 97|71 A L. That's all for today. 4] 252 oJ7|712] €72 £2| QIAtstx oA ., o= 2.
QAfstL B0 L. ZHARGILCE (ZRARILICE ) Qhds] 7kl .. (Qhds] AH ..}

2}



